Class 8 Worksheet 4

St. Mary’s School, Dwarka
Holiday Homework
Class: VIII
Worksheet 4

Subject: English

General Instructions:

1) The work should be done neatly and systematically.

2) The given questions are to be done in the English notebook.
3) Attempt all questions.

Q1. Read the following passage.

Plastic was once seen as a miracle material. It is light, strong, waterproof, and cheap to produce.
Today, plastic is used everywhere in packaging, bottles, toys, furniture, clothes, and even
electronics. However, what was once a useful invention has now become one of the greatest
threats to our environment.

One of the biggest problems with plastic is that it does not decompose easily. A single plastic
bottle can take hundreds of years to break down. Most of the plastic we use ends up in landfills,
rivers, and oceans. Marine animals often mistake plastic for food. Sea turtles, whales, and
seabirds have died after eating plastic bags or getting trapped in plastic waste. This harms not
only the animals but also the entire food chain, including humans.

Microplastics—tiny pieces of broken-down plastic—are another serious issue. These small
particles are found in the water we drink, the food we eat, and even the air we breathe. Scientists
believe that microplastics can enter our bodies and may affect our health over time.

The problem of plastic pollution is made worse by human habits. People use plastic bags, bottles,
and straws every day and throw them away after a single use. Many do not bother to recycle.
Even when people try to recycle, not all plastics can be reused due to the chemicals they contain.

However, there is hope. Many countries are banning single-use plastics and encouraging people
to carry reusable bags, bottles, and containers. Shops and supermarkets are being asked to reduce
plastic packaging. Schools and communities are spreading awareness about the harmful effects
of plastic and how to reduce its use.
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Class 8 Worksheet 4

As responsible citizens, students can also play a role. Saying no to plastic straws, using metal or
bamboo alternatives, bringing cloth bags for shopping, and participating in clean-up drives are
small steps that can make a big difference. Plastic pollution is a modern problem, but if each one
of us makes better choices, we can protect our Earth for future generations.

Based on your understanding of the passage, answer the questions given below. (1x5=5)
i. What makes plastic a widely used material around the world? D
Plastic is a widely used material around the world as it is
a) colourful and used for decoration

b) costly and reused by industries

c) light, strong, waterproof, and cheap

d) made naturally and easily available

ii. How does plastic pollution affect marine animals? (1)
a) makes the ocean water safe for them

b) eat it by mistake and often die

c) protects them from dangerous weather

d) helps them build safe new shelters

iii. What are microplastics, and why are they dangerous? (@D)]
1. tiny bits are formed when plastic breaks down

2. special particles used for ocean cleaning

3. found in air, water, and the human body

4. helpful in making strong building blocks

a) only 1 and 2 are correct
b) only 2 and 4 are correct
c) only 1 and 3 are correct
d) only 1 and 4 are correct

iv. According to the passage, which human habits worsen plastic pollution? @
a) constructing buildings close to beaches

b) eating too much sea fish every day

c) throwing away plastic after one use

d) using recycled paper for shopping

v. Choose the word from the passage that means the same as ‘harmful waste from
factories’. (1)
a) smoke that rises into the clean air

b) effluents released into the water

c) waste collected and buried in the land

d) dirt that gathers on building walls
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Q2. You are Rehan/Riya Kapoor, Vice President of the Literary Society at Maple Grove
School, Kolkata. Draft a notice for the students of classes VIII-XII for a “Slam Poetry
Competition”, where students can present their original poetry. Put the notice in a box and

include all the necessary details. It should not exceed 50 words. )
Q3. Fill in the blanks with the appropriate option. (Yox 4=2)
Mr. Shah: Good morning! | wanted to ask if you (i) the documents I sent you last week.
Priya: Oh, yes! I (ii) them yesterday. They (iii) all the information we needed.
Mr. Shah: That’s great to hear! I (iv) you to complete the report by the end of this
week.

I. a. received b. will receive c. have received d. was receiving

ii. a. received b. was receiving c. have received d. will receive

iii. a. have included  b. included c. are including d. will include

Iv. a. expect b. expected c. will expect d. have expected
Q4. Combine the two sentences into a single sentence. 2

i. We waited for the bus. The rain stopped.
ii. They were late. They apologised to the teacher.

Q5. Read the given extract to attempt the questions that follow. 2
“Here, let me help you,” said Mohan. “My room okay, Amma?”
“No, I think the puja room is better. A light there will look more normal.”

i. Why does Amma likely prefer the puja room for keeping the machine? @
Amma likely prefers the puja room for keeping the machine as it is
a) the darkest and quietest room in the house
b) a sacred place where light appears acceptable
c) a spacious and more relaxing room to use
d) nearer to the main door and convenient

ii. What does the exchange reveal about the context of the situation? Q)
a) They are preparing for a guest to arrive soon.

b) There is some secret activity that must be hidden.

¢) They are conducting a late-night prayer service.

d) The house has limited working electrical outlets.

Q6. How does the poet describe the peaceful atmosphere of Innisfree in the poem ‘The
Lake Isle of Innisfree’? (Answer in 30-40 words) (2)
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Q7. How does the author create humour in the lesson ‘The Night the Ghost Got In’?

(Answer in 30-40 words) (2)
Q8. What are some of the disasters that the world could face if global warming is not
checked? (Answer in 30-40 words) @)
Q9. Why was Manju disappointed in the lesson ‘The Narayanpur Incident’? (Answer in
40-60 words) (3)
Activity:

Q10. Create a placard with a powerful slogan or message inspired by the lesson ‘The
Narayanpur Incident’ and the Quit India Movement.

The placard should be designed on an A3-size sheet, mounted on cardboard, and attached
to a stick to make it easy to hold and display.

Use bold text, symbols, and visuals to reflect the spirit of patriotism and protest.

()
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Subject: Hindi

fRder — 1 fovw s @l yeel @ sor fowd ot 3w yfeas 4 fGfke |
2 o ¥dTe 2w vd WK o A PifEe |

No. of questions: 10 M.M. 25

uee 1 fAsafafa smufda e o ygoe sa@ smur ur waifds 3wed Jox
aret fawey gaor fafke — (1x5=5)
JI3C UarwT, 5l olulel 3 AR ® el < ot Sien smar €, gfeten ®f = w Hdl
@idl 2| 8,848 dlcr @l ystaencll Has ux fRera, us gfden o @ udamifeed six
A ol ® foe vw ufdfsa slaer €1 dBe vaiwe ur Tgedl vd ®fcd 3w
Teildiypt 3ucifer 2 forae fae adls @t derel sk 3oa wax @ eRifte eeiar @t
3MdeIdhdl gldl ¢ | felRaT ab @l arsn e 5,364 dice &t Hars e Red a1 du
A 2% @idl ¢ | g8l &, UddRIdl *dvelld dwdalkl, st dagell 37 sucnfea e
@l fRufd © oo & wdl e foaa ge faearaard smRisvr ®f e ofRaen o
B ¢ | 306 DRAId *4Iq, qWalel DI Il Bdall Usdl &, 5il USls DI cTollcT aGoldl
3itT =acwetd fewar @ | dse variwe ®f didl U Ugdell Udb dAgccayul 3uciier & forad
fole srcafties go Wy, crdiciue 3itt edbdr ®t 3Magaddr gldl ¢ |Zed |, uddariel
31eterdl Qiur HAeiceim! uw sl ®wed ¢, folee usls 3t 3w® HAEN ®I UG Tl
il

(i) a8 varwe @ Has Badd &7

(@) 8,849 diex

() 8,848 ditex

(a1) 8,948 dficx
(&) 8,858 dftex

(il) udarid fowa gz faeara owa &7
(@) 3mogerdt diear smefaeim! ux
)
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(ill) foafaifaa weret ( A)aen orel(R)®! eariqdes gor 3ftd fdoeca o R
wifste—
@2l ( A)AISC TaRRT R dgall b ®icel 3% goildiqef 3ucifer & |
@Vl ( R) 358 BRI *goq gWaIRl I Al Hroll Usdl ¢ |
et ( A)aen ool R) glell aterd ¢ |
(A)dtera & aen orevl( R) =1l 2 |
(31) were ( A)=adl @ e ool R) dtera 2 |
(a1) werel (A)aen el R) gYell =t € |aen wre( R) et (A)sl 9ca wnen

(iv) @B varwe @t <idt w wdaa & fole oo smagas 87

(V) o3c vaRee @ ourel & fdw oo & sien siar &7

fRefofia gesil @ 3w dfste— (1x5=5)
ued 2 5 ol @l fadluar adrs ome,3d o= oed & (3aewvl wied wate Gifsie |
el 8 WPy eleq ol Uieardl ereg oer & 7

e 4 Tk 30 ¥d 2l @ o) 3ol oeg our & 7

Ugel 5 Wlcl 81X dl Ugls oldl ®l, 31d 3[Wcl Glel UT Rid 8, Sl ael olidl |

................................. | fRad vere 9 3ugad cildifed oo geft 7
U%e] 6 '3Idcl UT UcelT Usell sl Jfelar ol 31¢f folwad ge e 3 uweier difsie ?
yeei-7 fideifeifdia gesil @ Seae difsle— (1% x2=3)

(®) dce] oira @ gfsar d site a=il getren en?

() faar weat sme ciieit @ ufdfwer bef eft sie a=ii7urs @a @ aEn & smere
UR AT BHifole |

uedt 8 fAsafoifa yedt @ Iaaw difsle— (1x2=2)
() arci® fRiwrel @1 e oftaal gagr o« ust?!

() @t gediaet foe der @ <o &7 3eid! usell Uett @1 @ sTer en?

2e 9 < sl @ da afdeiced @ e 8 Zdl dadia &) 70 @ 80 @Il i
Zdlc & w4 4 fcifag — (5x1=5)

UZ-10 [ ST B YRI6T Td G §d Bl FYoa-al dAlSel GOl |
(5%1=5)
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Subject- Sanskrit

fAder- 1 yaca weeeTel, 3w, deRd Yfeaerel va forad |
2 UeSIEIE Jcawdl, Yiarader fofcar Raawemenfa aifea wwofler |

3 e wacee ,Zjcy ¥d W olRGd vd cIaetie |
Number of Questions : 10 M.M.25

ueet 1 sreifoiffyd arcemer ufser weest Scave 3fda fawcus fear faaa |l (5)
dice ol wufde AdGIfa®l 3Rl | 7etel aenelfclay wAdUGIRRRI  Aenfwiet!
3l | dIGR SRR Sledl 1910 ddl d¥ 3EddArwd wdiaelfa; fase 3e1dad | =
JONTCIfael CeRRI U |uUdTl Yl 3 | AT glaRauwRl  3IcUldeeIRIe, ud
Glotellelo] AAI®  Ugeal 3181dcl | T  D&UIRIE  wefld,  Ufddfds  3irele | =
QdiGeeldsl  llfdacadel foidelele] <idilelo] Sildelucieddl WdRIG] docilell eidfa
<91 | e JreTean aliefl ‘wrefiar udel fawenas sifea adla suel wered faed ‘srceevar
orgetl gfeesT 3191act |

1 g el ol 3reda !
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4 JGR CRRARIS 5iod] Dl 3181ddl, |
(@) 1910 adt ad
(Ra) 1911 @t ad
(a1) 1810 cat ad
(&) 1210 @it ad
5 ‘Ul sid uewer fdufea: qaeet a fee sifea’
() usdt fa ewaseia
(Ra) wedt fa fgaaeter
(a1) et fa agadetar
(a1) et fa ewdTreter
veet 2 S g ol Yo YareTe e fRaaeena qrea- (4 x1=2)

aze1 3 figew, ufd v SfRauds Racreemnfa graa — (Y%6x6=3)

oI - Iiferefod ,GRHA ,3eIc |, eleGd, , faYs , wdlenm uftvmers |

BRI
aalémilag
featm- 25.06.25
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91e1 aiffiel uRlet 3rEk wean | [2] ------ RITEgeIRRl uLdid, 3elfawId | 316
[3] ------ ¥E Qeifvis VIRl Jayr. Jrcelfal | udd, atetvd, 3icfta  [4] ------
aifawrfa | sere sreemueste 31fd sremfer: =g [5] ----------- | 31a13 a1dan felea =1
ol | aTaTIe, 3TeToaiwe, Iga], [6] ------ afad celd wfvnfa |

uee 4 sreifafRad wae droprm fauafa faer ﬁﬁﬁlm?ﬂﬁmv_qfo—
(Y% xa=2)

AR — DIGER , YJEa®d , difdue®s , faeer
faenr — @ =dl! aa geddd fod ifza?
N il — dAfoa 0000 uman sifw |
faen —eieretal! g ... wer 31w !
TAT — Uoldesl e 31fd |
uee 5 Do ok fa we wd: Raaeermefa gwra- (Y% xa=2)
(1) o101 T (45) .cooovrverecnee.. G R |
(2) womem®  (29) ...............ci0r: faSfRT |
(3) wad DA, AR (20) .ooecvrneenennn.. ERIDIOT FHfRA |

yeel 6 srifafRdy Reaeeey yfad y=rl w@@isa aegd gea- (¥ x2=1)
(1) =rgets $eawa ------ ( 1ot oear ) faenreraet arewia |
(2) =iteer: wrRis yofer ------ (qt+ e ) 2rrerd wfd |

yeel 7 ufcwl Tafdca Yod @erl wegd forad | (Y xa=2)
6330 4300  12:45 2315
3ol 8 Xifdd uad, 3uee yeel fAeflerde] — (¥ x2=1)

(1) oo wefawa snaeamarm:  3iefeifda: =1 sfawfa |
(2) g Suare fRif@eamerl srcemwe: |
y1Ze1 9 erecrend 3¢k forma - (Y6 xa=2)
odicewr , fafdcacrs , fquuEess , das

ufRaisen orf

szt 10 fSRea oa @ Al o) Ruer ge e wiest wike | (5x1=5)
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Subject: Mathematics

Number of Questions : 10 M.M. 25
QL. Fill up the following blanks: (0.5x4=2)
a) A simple closed curve made up of unequal line segments is called a polygon.

b) Number of sides is equal to number of diagonals in
c) Polygons that have no portions of their diagonals in their exterlors are called

polygon.
d) Minimum possible interior angle in a regular polygon is

Q2. Choose the correct option: (Ix2=2)
)If p/2 +5/3 =-1/2,then p =
(a) -13/3 (b) -3/13 (c) 13/3 (d) 3/13
i1) The value of x for which the expression 3x-4 and 2x+1 become equal is
(a) -3 (b)0 (©)5 d1
Q3. Simplify and solve the following equation for the given variable.

10p-(Bp—-4)=4(p+1)+9 )
Q4. Verify that a) x = 2 is the solution of the equation 4.4x —3.8 =5 (2)

b) z=3.3isasolutionof 2z-5.5=1.1
1 L 1

Q5. Solve the given equation and find the value of y: 3% X 54 =172 (2)
Q6. Name a polygon i) with no diagonal (@)

if) in which number of diagonals are less than number of sides.
iii) in which number of diagonals are equal to number of sides.
iv) in which number of diagonals are more than the number of sides.

Q7. Solve the following equation and check your answer: (3)

x+7  x+4
2x+2 4x+4

Q8. Solve the equation: (3)

Hi[2(F>-2)-1]-1}+1-2
Q9. Collect the information about ages of three persons around you in different age groups.

and form an equation expressing your age in terms of their age. (e.g. your uncle’s age
= 34 years , your age 14 years i.e. your age is 3 less than half of your uncle’s age) (3)
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Activity:
Q10 Hide and Seek 4

Description: From the table, choose any one item from each column to form an equation
and solve it. Form at least 3 equations, mark them with different shapes or colors . One
example is done for you. The items chosen in this case are encircled in the table. (To be
done on A4 size sheet)

Equation:  -18a + (-3/5) =21

Solution of equation: -18a =21 + (3/5) = 108/5
a = (108/5) x (1/-18) = -108/90 = —6/5

3b®6=18
R
NoREiok:

—5) X X 6 = 3/2
22 r + 1 = -2/3
65 S = 12 - 1
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Subiject: Science

General Instructions
* Neatly write the answers in a separate thin notebook.
* Attempt the questions keeping in mind the weightage of each question.

No. of questions: 10 M.M. 25

Q1. Why are the straps of heavy bags made wide? D
a. To make the bag look stylish.

b. To reduce the pressure on the shoulders.

c. To increase the pressure on the shoulders.

d. To make it easier to carry.

Q2. Which product of coal contains benzene, naphthalene, and phenol, used in chemical
industries? (@D)]
a. Coke

b. Coal gas

c. Coal tar

d. Petroleum

Q3. Assertion (A): The use of CNG as an automobile fuel reduces air pollution.

Reason (R): CNG burns completely and leaves behind harmful residues. @
a. Both assertion and reason are true, and reason is the correct explanation of the assertion.

b Both assertion and reason are true, but the reason is not the correct explanation of the
assertion.

¢ The Assertion is true, but the reason is false.

d. Both Assertion and Reason are false.

Q4. a. A farmer observed that insects were damaging the crops in the field. The teacher advised
using a natural method for protection instead of chemical pesticides. What natural method can
be used to protect the crops? 1)

b. After harvesting, a farmer uses a machine to separate grain from chaff. Draw a labeled
diagram showing this process. Q)

Q5. Give reason: (2)
a. The tires of heavy trucks and tractors are made very wide.
b. It is easier to walk on soft sand if you have flat shoes compared to shoes with high heels.
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Q6. a. A farmer wants to improve soil fertility without spending money on chemical fertilizers.
Which natural method can be used to replenish nutrients in the soil? Q)

o
i

’\ e

=i (_

- |
—
Season 1 Season 2 Season 1 Season 2
Field 1 Field 2

A Sl

b. In Field A, maize was grown for two consecutive seasons. In Field B, a legume crop was
grown in the first season, followed by maize in the second.
Which field is likely to have better soil quality in the third season? Justify your answer. (2)

Q7. Imagine the year 2150. Fossil fuels are completely exhausted. The world is running entirely
on renewables. (3)
a. How might life, industry, and transport function in this post-fossil-fuel world?
b. What opportunities and limitations might exist in such a future?
c. Looking back from this future, what might people regret about how fossil fuels were used?

Q8. A construction worker is trying to slide a very heavy toolbox across a rough concrete floor.
a. Identify the forces acting on the toolbox and state whether they are balanced or unbalanced.
b. If two workers each apply a 50 N horizontal force in the same direction to the stationary
toolbox, what will be the likely effect on the toolbox's motion? Explain whether the total
horizontal force acting on the toolbox is now balanced or unbalanced. 3

Q9. A village in Rajasthan faced health issues due to the use of firewood and kerosene. With
government support, households switched to piped natural gas (PNG). After a year, reports
showed better indoor air quality and fewer respiratory problems, but some villagers complained
about rising monthly costs. 4)
Answer the following questions:

a. How is natural gas different from firewood and kerosene in terms of pollution and efficiency?
b. What are the health benefits observed after the switch to PNG?

c. Why might some villagers be hesitant to continue using PNG despite its benefits?

d. As a member of the local governance body, how would you address the concerns of
affordability while promoting clean fuel?
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Q10. Activity

Aim: The Effect of Area on Pressure: A Thumb Impression Experiment (5)
Procedure: Take some clay, gently press your flat thumb on it, observe the mark. Now, with the
same gentle push, press your thumb tip on a new spot and see the deeper mark. The smaller area
of your thumb tip concentrates the force, creating higher pressure. This shows how pressure
changes with the area of contact, even with the same force.

Answer the following questions based on the above activity.

a. In this activity, you pressed your thumb flat and then with the tip. In which case was the
pressure exerted on the clay greater?

b. What two factors determine the pressure you exert on the clay with your thumb? How did this
activity demonstrate the effect of one of these factors?

c. Imagine you used a sharp pencil tip instead of your thumb tip. Would you expect the mark on
the clay to be deeper or shallower (assuming the same gentle force)? Explain why based on the
concept of pressure.

d. This activity showed how changing the contact area affects pressure. Give two real-world
examples where this principle is intentionally used to either increase or decrease pressure.
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Subiject: Social Science
Number of Questions : 10 M.M :25

General Instructions:

@ The work should be done neatly and in a systematic way.

@ The given assignments are to be done in the History and Geography notebook.
@ Mention the number of worksheets while doing the work.

@ Write all the questions along with the answers.

Q1. What was the primary aim of the East India Company when it came to India? 1
Q2. Name two European trading companies other than the English East India Company. 1
Q3. When did Goa become a part of Portuguese rule? 1

Q4. Write the importance of the Independent Judiciary or Parliamentary form of Government.2

Q5. Make a G.O. of different types of resources. 2
Q6. What do you understand by Human-made resources? Explain briefly with examples. 2
Q7. Suggest any four ways to conserve water. 2
Q8. Make a G.O. of the various Fundamental Rights and explain any two. 3
Q9. Why was the Battle of Plassey a turning point in Indian history? 3

Q10. What is a Survey? Give examples of different types of Surveys conducted during
British period. 3
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Project Based Activity-History 5

Fun Activity

They will design and create a simple board game that follows the journey of the East India
Company in India.

How to Make the Game:
1. Board Design (Game Path):

e Use a sheet of cardboard or a chart paper.

e Create a snakes-and-ladders style path or circular track.
e Label key spots like:

1600: EEIC is formed

1612: Trade rights from Jahangir

Surat Port

Battle of Plassey

Bengal Rule Begins

Indian Rebellion

0O O O O O

Include both positive (trade success) and negative (conflicts, rebellion) boxes.

2. Game Cards:

e Make 10-15 Event Cards with simple instructions like:
o “You signed a treaty — move forward 2 spaces.”

“Conflict with Nawab — lose a turn.”

“You opened a factory in Madras — roll again.”

“Caught smuggling — go back 3 spaces.”

O O O

3. Dice & Tokens:

e Use a dice (or make a spinner).
e Create small player tokens out of paper or buttons.

Learning Outcomes:

e Understand key events of EEIC’s entry and expansion.
e Reinforce historical sequencing through game play.
e Encourage creative thinking and peer interaction.
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Subject: Computer Science
No. of questions: 10 M.M. 25

Answer the following questions:

1. Draw a Venn diagram to explain the domains of Al. 1

2. Name the Indian humanoid robot developed by Mr. Dinesh Patel and can converse in 47 1
different languages.

3. Name the different domains of Al. 2

Tick the correct option. (1x4=4)

4. Which of the following is not a domain of Al?

a) Data Science b) Natural Language Processing

c) Web Designing d) Computer Vision

5. In which domain of Al does the computer understand and generate human language?
a) Machine Learning b) Robotics
c¢) Natural Language Processing d) Computer Vision

6. Which Al domain is used in voice assistants like Alexa or Siri?
a) Data Science b) Natural Language Processing
c) Computer Networks d) Robotics

7. Which domain of Al helps self-driving cars recognize traffic signs and lanes?

a) Natural Language Processing b) Robotics
c¢) Computer Vision d) Cybersecurity
8 Application-based questions. (1x5=5)

i) A company uses Al to recommend products to customers based on their browsing history and
preferences. Which domain of Al is being used here?

i) An Al system analyzes medical images to detect early signs of diseases like cancer. Which Al
domain is applied in this scenario.

iii) A virtual assistant understands and responds to voice commands, such as setting reminders or

answering questions. Which Al domain is utilized in this case?

iv) A robot in a warehouse autonomously picks and places items based on visual cues and sensor data.
Which Al domain is being employed here?

v) An Al system analyzes large datasets to identify patterns and trends, aiding in business decision-making.
Which Al domain is being applied in this scenario?

9. Fill in the blanks. (1x6=6)
i) The domain of Al that focuses on designing and controlling physical machines is called .

i) Self-driving cars use to detect obstacles, road signs, and people.

i) helps machines understand, interpret, and respond to human languages like English or Hindi.
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iv) Applications like Google Translate and Siri use to understand and respond to voice or
text input.
V) is the process of collecting, analyzing, and interpreting large amounts of data to make decisions.
vi) According to, Fei-Fei, is defined as the subset of mainstream of artificial intelligence that deals
with the science of making computers or machines visually enabled.

10. State whether True or False (1x6=6)

i) NLP helps the Al systems to gather data from visual routes.

i) Data Science helps Al systems to train using real-time data.

iii) Al can never be used to recognize human faces in photos.

iv) Machine Learning is a domain of Al that helps machines learn from data without being explicitly programmed.
V) Robotics refers to the design and use of robots, which are physical machines, not virtual entities.

vi) Computer Vision is used in applications like facial recognition and autonomous vehicles.

Activity:

Note: Open the MS-Word file and write down all the practical questions.

Take the snip of the programming workspace and game simulator.

Then paste it under each practical.

Save the file as a pdf and upload under the ASSIGNMENT created in MS-Teams
Design a block code programming using MakeCode Arcade for the following questions.

Practical 1: To generate the multiplication table of 6.
Practical 2: To print the message “Smart World” 3 times.
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Subject: Elementary Mathematics

No. of questions: 5

Q1  Choose the correct option:
(i) Insimplification, division is done before ---------

a) multiplication b) addition c) subtraction
(i) 45+5+4 = --mrmmemem-
a) 13 b) 10 ) 11

(i) (19 —7) divided by (18 + 3) = --------

a) 9 b) 2 0 12
(iv)7-1+8=------
a 7 b) 6 ¢) 8

Q2  Simplify the following;
l. 8+3-2
. 3-52+60
.  7x3-2
IV. 13x4-2

Q3  Simplify:
. 5x10+2+4
Il. 6x5+20+4-2
. 105-45+3+15x2
IV. 25+5-3+2x2

Q4  Simplify:
. [4+{(8x9)+12}]-10
. [14{(125-20)+15}]
. [26-{(3x8)+4}]+5
IV. [9{(8+2)-4}+6]-30
Activity:
Q5  Write your and your brother’s date of birth and arrange digits in the
smallest and the greatest possible numbers using each of the
digits only once:
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d) brackets

d 0

d) None

d) 14

(Lx4=4)

(1x4=4)

(1.5x4=6)

(2x4=8)

(3x1=3)




